5.1 5.2 pp.61 69
7.1 7.4 pp.87 99

2 o0 :
I PP sy =0 y()= Zaix
dx dx 1=0

> (i+2)(i+Daj 2%’ +P(x) (i +Dajax’ +Q(x) Taix =0
=0 =0 =0



2

xzd—§+xﬂ+(x2—v2)y=0 (v=0)
dx dx
®
o*u_1lau
8X2 D ot
Q X X(x) t
2 2
R O
OX dx ot dt
1d°X 1 dT y
X dx? DT(t) dt
X, t

T(t)



1 d2X 5 -
Y—2=—a X = Acosax + Bsinax

1
5T dt ‘T C exp(-a°Dt)

(0 0)
u(x,t)= S [A,cosanx + By sinan X |Jexp(—apDt)
n=0

u(x,t) = j: [A(a)cosax + B(a)sinax]exp(-eDt)da



6%V 1 6%V
ox?  c? ot?

O

v(X,t)= X(x)T(t)

2 2 2
0%V d2X 8%y T
=T Yox)
OX dx at dt
1 d2X 1 d°T ‘
= X
X(X) dx2 T(t) g2
Xt
_ﬂz
1 d2X

—== ——f° ‘ X = Acos fx + Bsin fx
X dx

%d_Tz_IBZ ‘ T =Ccos fAct + Dsin St
coT dt



V(X,t)= §[An €0s B, X + By sin B x]Cpy €0s Bnct + Dy sin Brct]
n=0

v(x,t)=[ [A(B)cos -+ B(f)sin X [C(8)cos fox + D(B)sin fex b



